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	7. 
Two parcels weigh 5 Kg and 4.  What is their combined weight?

	8. 
A full bottle of lemonade holds 2 litre.  Anne fills a glass to the top with lemonade from the full bottle.  The glass holds   litre.  How much lemonade is left in the bottle?
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Which is the 0dd one out?

A

Explain why.
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The perimeter of the rectangle is 17

2
3

Work out the missing length.
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The sum of three fractions is 2

The fractions have different
denominators.

Al of the fractions are greater than or
equalto 2 half,

None of the fractions are improper
fractions.

All of the denominators are factors of 8

What could the fractions be?
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Sam has added 3 fractions together to
get an answer of %

[ENNEEENNENNNEENNNE]

What 3 fractions could he have added?

Can you find more than one answer?




